## St. Clair County Road Commission

St. Clair County-M-19 Joint Repairs St. Clair County, Michigan July 10, 2025 @ 1:00 PM Bid Opening

Bidder	Bid Amount	Bid Bond Y or N	Addendum #2
1 Ace- Saginaw Paving Company			
2. James P. Contracting, Inc.			
3. Pavement Recycling Inc.			
4. Ajax Paving Industries	\$ 651,098.00 \$ 301,651.50	9	Y
5. Lois Kay Contracting	\$ 301,651.50	7	Y
6. Anlaan Corporation			
7. Florence Cement Company	\$ 497,607,51	Y	Y
8. Astec Asphalt, Inc.	)	7	
9.			
10.			
11.			5
12.	,		

Opened by:

Witnessed by:

## **Bid Comparison**

Contract ID: 77012

**Description:** Trenching, Hand Patching, Shouldering and Pavt Joint Repair Det 7 & Det 8

Location:

M-19 City of Yale and Brockway Township

Projects(s):

77012

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$236,850.00	-21.48%	0.00%
1	(00745) Lois Kay Contracting Co.	\$301,651.50	0.00%	27.35%
2	(00891) Florence Cement Company	\$497,607.51	64.96%	110.09%
3	(_5) Ajax Paving Industries	\$651,098.00	115.84%	174.89%

Line Pay Item Code	Quantity Units	(0) ENGINEER'S E	STIMATE	(1) Lois Kay Contra	cting Co.	(2) Florence Ceme	nt Company
Description		Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 1100001 Mobilization, Max	1 LSUM	\$25,000.00	\$25,000.00	\$18,000.00	\$18,000.00	\$40,000.00	\$40,000.00
0002 3077002 _ Trenching, Spec	60 Sta	\$300.00	\$18,000.00	\$750.00	\$45,000.00	\$2,470.00	\$148,200.00
0003 5010025 Hand Patching	860 Ton	\$115.00	\$98,900.00	\$178.00	\$153,080.00	\$200.00	\$172,000.00

Contract # 77012 (M-19 City of Yale and Brockway Township) MERL: 2023.5.0

Line	Pay Item Code	Quantity Units (0) ENGINEER'S ESTIMATE (1) Lois Kay Contracting Co.		cting Co.	(2) Florence Cement Company				
Descr	iption			Bid Price	Total	Bid Price	Total	Bid Price	Tota
0004	5017001	3,200	Ft	\$16.00	\$51,200.00	\$16.00	\$51,200.00	\$21.00	\$67,200.00
_ Pav	t Joint and Crack Repr, Det 7, S	Spec							
0005	5017001	400	Ft	\$17.00	\$6,800.00	\$18.00	\$7,200.00	\$37.00	\$14,800.00
_ Pav	t Joint and Crack Repr, Det 8, 9	Spec							
0006	8120035	150	Ea	\$25.00	\$3,750.00	\$1.00	\$150.00	\$25.00	\$3,750.00
Chan	nelizing Device, 42 inch, Fluore	scent, Furn							
0007	8120036	150	Ea	\$2.00	\$300.00	\$0.01	\$1.50	\$0.01	\$1.50
Chan	nelizing Device, 42 inch, Fluore	scent, Oper							
8000	8120170	1	LSUM	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$20,250.00	\$20,250.00
Minor	Traf Devices								
0009	8120350	600	Sft	\$4.50	\$2,700.00	\$3.00	\$1,800.00	\$7.00	\$4,200.00
Sign,	Type B, Temp, Prismatic, Furn								
0010	8120351	600	Sft	\$1.00	\$600.00	\$1.00	\$600.00	\$0.01	\$6.00
Sign,	Type B, Temp, Prismatic, Oper								
0011	8120370	1	LSUM	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$0.01	\$0.0 <sup>2</sup>
Traf F	Regulator Control								
0012	8122188	12	Ea	\$450.00	\$5,400.00	\$125.00	\$1,500.00	\$1,000.00	\$12,000.00
Rumb	ole Strip, Temp, Portable, Furn								
0013	8122189	12	Ea	\$100.00	\$1,200.00	\$10.00	\$120.00	\$100.00	\$1,200.00
Rumb	ole Strip, Temp, Portable, Oper								
0014	8127050	2	Ea	\$1,500.00	\$3,000.00	\$500.00	\$1,000.00	\$7,000.00	\$14,000.00
_ Auto	omated Flagger Assistance Dev	rice							
Bid To	otals:				\$236,850.00		\$301,651.50		\$497,607.5°

Line Pay Item Code	Quantity	Units	(3) Ajax Paving Inc	luetrice		
Description	Quantity	Onito	Bid Price	Total	Bid Price Total	Bid Price Total
0001 1100001	1	LSUM	\$50,000.00	\$50,000.00	\$0.00	
Mobilization, Max			·	·		
0002 3077002	60	Sta	\$750.00	\$45,000.00	\$0.00	\$0.00
_ Trenching, Spec						
0003 5010025	860	Ton	\$378.00	\$325,080.00	\$0.00	\$0.00
Hand Patching						
0004 5017001	3,200	Ft	\$35.00	\$112,000.00	\$0.00	\$0.00
_ Pavt Joint and Crack Repr, Det 7, Sp	рес					
0005 5017001	400	Ft	\$35.00	\$14,000.00	\$0.00	\$0.00
_ Pavt Joint and Crack Repr, Det 8, Sp	oec					
0006 8120035	150	Ea	\$9.00	\$1,350.00	\$0.00	\$0.00
Channelizing Device, 42 inch, Fluores	cent, Furn					
0007 8120036	150	Ea	\$1.00	\$150.00	\$0.00	\$0.00
Channelizing Device, 42 inch, Fluores						
0008 8120170	1	LSUM	\$50,000.00	\$50,000.00	\$0.00	\$0.00
Minor Traf Devices						
0009 8120350	600	Sft	\$2.50	\$1,500.00	\$0.00	\$0.00
Sign, Type B, Temp, Prismatic, Furn						
0010 8120351	600	Sft	\$0.01	\$6.00	\$0.00	\$0.00
Sign, Type B, Temp, Prismatic, Oper						
0011 8120370	1	LSUM	\$50,000.00	\$50,000.00	\$0.00	\$0.00
Traf Regulator Control						
0012 8122188	12	Ea	\$100.00	\$1,200.00	\$0.00	\$0.00
Rumble Strip, Temp, Portable, Furn						
0013 8122189	12	Ea	\$1.00	\$12.00	\$0.00	\$0.00
Rumble Strip, Temp, Portable, Oper						
0014 8127050	2	Ea	\$400.00	\$800.00	\$0.00	\$0.00
_ Automated Flagger Assistance Device	ce					
Bid Totals:				\$651,098.00		